Year 1 Calculation Policy

Addition
Learning
Ladders
Assessment Concrete Pictorial Abstract

Statement
1A.1 . ® +8=20
| know all pairs T
of numbers 20 = +11
which make all o
numbers upto i t
12, and pairs |isS:|:aat;t,

with a total of
20

| can start by
counting from
the bigger
number.

1A.2 | can use

The whole is

5+12=

12+5=17

+—+
10 1112 13 “

t +—t
15 16 17 18 19 20

5+12=

12+5=
_ =5+12
__+12+5

Know that addition can
be done in any order.
Start with the number

with the most value and

add the smaller number.

number facts 4+3=7
to add 1 digit So14+3=17
numbers to 2 So024 +3=7
digit numbers
(e.g. 4+3=7 so 34+__ =37
14+3=17 and
24+3=27)
1A.3 -l can add The abstract number
ones using a line:
structured What is 2 more than 4?
number line/ IR EEEE What is the sum of 2
100 grid ettt and 4?
What is the total of 4
snipinininininiDinioN 5 & and 22
4+2
1A.4 - | can add ;
10s using a el | fela[s 4] 26 +10=
structured Sl e
number Sl il e _ =34+10
line/100 grid S
=10+17

1 1 |
30 40 50 60 70 80 q0 100

28 + =38




Year 2 Calculation Policy

Addition

Learning
Ladders
Assessment
Statement

Concrete

2A.1 - | know all
number facts
upto 20

Pictorial

Abstract

18=12+6

12+7=19

20=__ +9
2A.2 - | can use
related facts to 3+3=6
add multiples of
;0 gnd91 00 e.g. 3tens+3tens=6

+3=9so0

60+30= tens

30+ 30=60
| can 3 1-digit
numbers
looking for 447 +6)= +[7
number bonds = @]
and doubles 1 [j

=17
4+6=10 10+7=17
2A.3-lcan 57+5=62
partition a
number to add 57+5
using number
bonds to 10
+3+2=
(e.9.8+7is 8+ S7+3+2=62
2+5;57+5=
57+3+2=62
2A.4 -1 can add 34+40=74
multiples of 10 74 =34 + 40
to any number 74=40+ 34
using a 100 grid 74 = +34
34 + =74

2A.5 - | can add
any pair of 2- 23+12 =
digit numbers
using an 23 +10+2
unstructured
number line

(e.g.23+12 =23
+10+2)




Year 3 Calculation Policy

Addition
Learning
Ladders
Assessment Concrete Pictorial Abstract
Statement
3A.1-lcanadd 225+ 200 21+30=51
multiples 10
and 100 51=21+30
225+100 =
225+ 200 =
225+ _ =325
3A.1-lcan add
near multiples 34+19=
10 and 100
34+20-1
| can add

multiples of 5
and 10 to make
a hundred

3A.2-lcan
perform place
value additions
(e.g.
300+4+20=324)

65+5+30=100

3A.3-1can add
any 2-digit
number by
partitioning

300+4 +20=2324

3A.4 -1 can add
a pair of 2-digit
numbers by
counting on

330+__ =334
_ +30+4=234
234 + =334
556+37=
[BolN + [So\ =8 50 + 30 =80
AR N Tl _
B 4 ri[‘\ﬁ.;w\zrqz 5+7=12
80+12=92
53 +26=
53+20+6=79




Year 3 Calculation Policy

Addition- Written Methods

Learning
Ladders
Assessment
Statement

Concrete

3A.6 -l can use
expanded
column addition

i -

Pictorial

Abstract

53 + 26=
E

36 + 26 =

3A.7-lcanuse
efficient column
addition to add

numbers with 3
digits

Hundreds

Tens

Ones

©

00
OO

5

Group the 1s into a ten
and move it into the tens

column

Hundreds

Tens

Ones

OO0

00
O

36 +26




Addition

What do you add to
36 to make 1007

234+6+60=

Hundreds Ones
©00 O O |00
00 00
OO 364 + 100 -1 = 463
Add 100 and take 1 away
Hundreds Tens Ones
000 | O O 00
Q0 ©
@] O O
— | 2634+ 4517=
2634 + 4517 =
Thousands | Hundreds Tens Ones
©e (000 000|000
-1-X- (@)
© 000
g°°82°l° |ss
()
Thousands | Hundreds Tens Ones
ee [eed\0oo
©00 (3]
goe -1 (- I 00
o<’ o« o




Addition

0.42+0.58=1

0.399+0.601=1

136+__ =20

£6.34 + £1.99

Y Y Y ¥
2@+ @®
o

+

@

Then take away 1p

13.6+6+0.4=20

6.34 +1.99 =
6.34+2-0.01
=8.33

£6.34 + £2 - 1p




Addition

46 + 54 =100

| -10 -4 (0] 3

0.46+0.54=1
3.46+0.54=4
346+ =4
Use the same method
toworkout46+ =
100
4 +7 =
4+7=3 -4+4+3=3




Year 1 Calculation Policy

Subtraction

Learning
Ladders
Assessment
Statement

Concrete

Pictorial

Abstract

1S.1 -l know
all the
subtraction
facts to 12
and pairs
that make 20

4-3=

Y -4-3
d

1S.2-1lcan
use number
facts to
subtract 1-
digit numbers
from 2-digit
numbers
(e.g. 7-2=5 so
17-2=15, 27-
2=25)

Finding a
difference
How many
less | fewer?
How many
more?

Finding the difference is
subtraction

Find the difference between 8 and 5.

8 - 5, the difference is D

1S.3 -l can
count back in
ones using a
structured
number line/
100 grid

Counting back (using number lines or number tracks)

children start with 6 and count back 2.

6-2=4

vov0_oe

6-2=4

H"Hzausuu\o

16 -4=12
15-3=7
Am | right?
15-5=17

How do you know?

1S.4 -1 can
count back in
tens using a
100 grid




Year 2 Calculation Policy

Subtraction

Learning
Ladders
Assessment Concrete Pictorial Abstract
Statement
2S.1 -1 know all 20-12=8 20-8="7
subtraction facts @@O OOO 20-12="7
to 20 8=20-7
?=20-12
16-5 = 13-

2S.2. -l can use
related facts to

| know 6 minus 4
so | know 60

subtract subtract 40.

multiples of 10

and100e.g.6-4 6-4=2

=2s060-40= =

- 60-40=20

2S.3-1can

subtract a 1 digit

number from a 2- 52_-7=

digit number

using number =

facts (e.g. 52- ! km;v(\)/ |2 daond 57

6=52-2-4=46)
62-2-5=___

2S.4-lcan

count back in 43-20=23

multiples of 10s

from any 2 digit

number using a

hundred grid

28.5-1can 46 — 32=

takeaway 10s 37-12=25 ?=56-45

and 1s from a 2- 25 27 37 46-?2=32

digit number Missing number in

usmtg ar: q 5 10 the middle subtract

gzrsnl'::; Il:r:Z to solve the riddle

46 -32="7

2S8.6-1can 72-66 =

subtract any pair

of 2 digit Count on to the

numbers by next multiple of

counting on

(FROG) in 1s and
10s using an
unstructured
number line

10.
What is the next
multiple of 10?




Year 3 Calculation Policy

Subtraction

Learning
Ladders
Assessment
Statement

Concrete

3S.1-1can
subtract
multiples of 10
and 100 (e.g.
136-20=)

Pictorial

Abstract

136-20=116

| can subtract by
partitioning (e.g.
55-32 as 50-30
and 5-2)

20 -32 =23

50 - 30 = 20
5-2=_3
23

3S.3-1can
takeaway
multiples and
near multiples of
10 and 100

34-19 =
30—-20+1=




Year 3 Calculation Policy

Subtraction

Learning
Ladders
Assessment
Statement

Concrete

Pictorial

Abstract

3S.4-1can
count back in
hundreds, tens
and then ones
using an
unstructured
number line (e.g.
763 -121)

556-32=22
56-30-2=23

763-121 =

763 -100-20 -1

=642
3S.5 -1 can count 143-76=67
on (FROG) from a
2-digit number to 54 - 47 = 76 +4+20+43=
a number bigger
than 100 (e.g. 143- 143
76) 5 5 | 4+20+43=67

3S.6 - can find
change from £1,
£5 and £10 by
counting up

10p

20p

30p 40p SOp  60p

70p  80p

e 6

£5-£2.38=£2.62

£2.38 +£0.02 +
£0.60 +£2=£5

- £0.02 +£0.60 +£2

£2.62




Subtraction

94 -56 =

94-50-4-3=37

100-59 =

100-60 +1

135-112=

112+8+15=135

£20-£1545=




Subtraction — Written Calculations

0




Subtraction

6.34 -3.99 =

6.34-4+0.01=2.35




Year 6 Calculation Policy

Subtraction
Learning
Ladders
Assessment Concrete Pictorial Abstract
Statement
6S.1 -l can
work out
number bonds 2 AN 1000 - 564 = 1000= 564 + ?
to 1000 quickly '«,\023.30*
@e® oo > 9gO® +6 +30 +400
®® © 564 570 600 1000

400+ 30+ 6=436

6S.2 -1 can use
mental
strategies to
subtract
decimal
numbers

Count on, count back = subtract and adjust.

Look at previous mental strategies taught in KS2

6S.3 -1 can use
efficient written
subtraction
with numbers
with upto 3
decimal places

Units g 1/10 1/100

1/1000

Hundreds | Tens Ones *

Tenths

Hundredths

Thousandths

k.36~ 0.4 3423926

34.'3%‘0
-0.4 34
e b




Year 1 Calculation Policy

Multiplication

Learning
Ladders
Assessment
Statement

Concrete

Pictorial

Abstract

1M.1 -l can
double
numbers to 10

Double 4 is 8

4

4

Double 4 is 8

8=4+4

4+4=8




Year 2 Calculation Policy

Multiplication
Learning
Ladders
Assessment Concrete Pictorial Abstract
Statement
2M.1 -l can
countin2's,
5's and 10's A A B E.Z |510,15 20,25,
from zero 9 0o ceooceed®
N 4 6 & Lo 30, ,
# ’73&" ¥ ’73 ‘7‘4! ‘;v & -
2 s 0 " 0 b1} »
W, 3 W W,
? o I Dal7AN
SNy STV STV
2M.2 - | can »
countin 3s ! g - Coog 3 Mg b
Bz .z EEXEEEEEEER
1|2 4 8 7 s BB 0 316191121
u-u u.u |7-|9 2
.z:n.nx.nn. NSNS 15 aaa
n n.)a Js.n:a.m H-+—-++
ll-l) “.‘6 ‘7-‘9 “0 o 3 6 9 12 15 18 21 24
. 52 5 . 5% % - % % .
6 sz-en u.or u.m
n-n n.n n.n 80
. s o Bl o5 & . 8 .
9 92-94 95.97 n.mo
2M.3 -l can 16
double
numbers to 20 / \
. 10 6
and multiples |
Of 1 0 x2 x2
20 12
- 3 Ooublebbs
2M.4 - | can Repeated grouping/repeated addition Represent this pictorially alongside a number line eg:
° Ix4
multiply usin 44444
COI‘IC?G{G < There are 3 equal groups, with 4 in each group. 3 x 4 - 12
objects,
pictorial 44+444+44=12
representation
s arrays and 4 »
repeated :fbfsot:ct number line showing three jumps
addition Ixdat2




Year 3 Calculation Policy

Multi

lication

3M.1 - | know by

heart all the 1x3=3
multiplication 2x3=6
facts in 3x3=9
x2,x3,x4,x5,x8,x10 4x3=12
tables 5x3=15
6x3=18
7x3=21
8x3=24
9x3=27
10x3 =30
3M.2 - | know that Use arrays 3x4=12
multiplication can so 4x3=12

be done in any
order
(commutative)

3M.3-Ilcan
multiply whole
numbers by 10
and 100

3M.4 - | can use
related facts to
multiply multiples
of 10 e.g. 2x3=6
2x30=60

2x3 =6
2 x 30 =60

3M.5-1can
double numbers
upto 50 by
partitioning




Year 3 Calculation Policy

Multiplication

3M.6 - | can
partition teen
numbers into
10's and ones to
multiply (e.g. 3
x14 as 3x10 and
3 x4)

3M.7 -1 can use
a grid method to
multiply 2-digit
and 3-digit
numbers by
friendly’ 1- digit
numbers




Multiplication

1x3=3

2x3=6

3x3=9
4x3=12
5x3=15
6x3=18
7x3=21
8x3=24
9x3=27

10x3=30

3x6=18
3x60=180

3 x600=1800

10 x 24 = 240
so5x24=120

9x25 as (10x25)-25)

25 25 25 25 25
25 25 25 25¥§§

9x25 = (10x25)-25)







Formal colum method with Children represent the
place value counters counters/base 10:

(50 X 20)

120 (6X20)
350 (50X7)
42 (6X7)




Year 6 Calculation Policy

Multiplication
Learning
Ladders
Assessment Concrete Pictorial Abstract
Statement

6M.2 - | can use 4 X 3=\2 S0 4%0.03:012 4x3=12
doubling and
halving to (1)) 4X03=12
multiply by 2, 4, C.O
8, 5,20 and 25 % 4X0.03=0.12
6M.3 -1 can
multiply 2 place 10 X 7= 0y:2

decimals by 1
digit numbers
using partitioning

a 2)([*:-?‘)“*'15 5 x7=35
TR 2x6212 o

wo § mxba 120
‘,c?.xz-é)u 100 % 12 1200 4

x3«2% .
afd 3,,_,')*?-“(\ 26 % 122 300

6M.4 -1 can
multiply mentally
by near multiples
of 100 (e.g.
67x199 as
(67x200)-67)

5% 2.47=\2.35

2 oy 007
¥5 |
10 2 039
: 12.35

5 X 2.47 = (5x2) +
(5x0.4) + (5x0.07) =

12.35

6M.5 - | can use
long
multiplication to
multiply a 2-digit
number by a
number with up
to 4-digits

= OKLIS)"I’S
199 X 45 <29woo

= 8955

199 x 45 = (200 x45) —

45 = 8955

6M.5 - | can use
long
multiplication to
multiply a 2-digit
number by a
number with up
to 4-digits




Year 1 Calculation Policy

Division

1D.1 -1 can
find half of
even numbers
to12 and
know it is
hard to halve
odd numbers

Half of 8 is 4

20f12=6




Year 2 Calculation Policy

Division
Learning
Ladders
Assessment Concrete Pictorial Abstract
Statement
2D.1 - Using How many 2s in
fingers, | can 10 > > > 122
say where a
given number %‘ \\‘ 12 shared
is in the 2s, ‘ between 2 is ?
5s or 10s e.g. I =) % R . . .
8is tlre fot'11rth -— o W A - ;"’_Mﬁif‘—F'/C_\“l Gy How many
number when © g \& E e C% @S groups of 2
| countin 2s ’ - e 1o make 122
12+2=7
2D.2-1can
ha've Sh.anng using a range of objects. 2 x 6 =1 2
numbers to -
40 and oxemte
multiples of “. ‘ So?+2=
10to 100 “\ 20+2=4
2D.3 -1 can ]
relate [20+5- 20 + 5 or how
grouping to ~ How many groups of S many 5s make
division e.g. an 207 207
How many

groups of 5 in
20

 Joccoo|ocooe[00000\0000
0 Sl S

20

2D.4-Find 1/2,
1/3, 1/4 and 3/4
of a quantity of
objects and of
amounts
(whole number
answers)

Yoof12=12+2
=6
Yaof12=12+ 4
=3
113 of 12 =12+
3=4
% of 20= (20 +
4)x3=15




Year 3 Calculation Policy

Division

3D.1 -1 know by
heart all the
division facts
that can be
derived from the
x2, x3, x4, x5, x8
and x 10 tables

3D.2-lcan
divide whole
numbers by 10
or 100 to give
whole number
answers

3D.3-lcanuse
related facts to
divide multiples
of 10 by 1-digit
numbers e.g. 32
+8=4s0320+
8=40

3D.4-1can
halve even
numbers to 100,
halve odd
numbers to 20




Year 3 Calculation Policy

Division

including those
with remainders
e.g.57+3

Dividing with
remainders 2d + 1d with remainders using lollipop sticks. Cuisenaire Children to represent the lollipop sticks pictorially..
;gdf.:boveamlercanalsobeused. oas »
Use of lollipop sticks to form wholes- squares are made -1 VY | mmmwmm&t:
because we are dividing by 4. l repeated addition on a number line.
Lg’“‘ﬁ' ]:L — T ro— 3 groups of 4, with 1 left over
T —— & : 1 1
m:':wholesqmres,wiﬂﬂleﬂmn There are 3 whole squares, with 1 left over.
Sharing
Sharing using place value counters. Children to represent the place value counters
42.3=14 pictorially.
000000 42 - 3
[0 | ] 42=30+12
. 30+3=10
12+3=4
| 10+4=14
[+ 0000 |=M4
L] o000
o 0000
3D.5-1can
perform -
divisions just [
above the 10th LN
multipleusinga | =
. ]
number line e.g. —
52+4=13 B
3D.6-1can
divide larger Times tables square
numbers
mentally by
subtracting the
10th multiple,




Division

Find the answer to this 32+8=4
first32+8=4
S0320+8=40
Use methods taught

So 3200 + 8 =400

Use the same
method but with
larger numbers.

previously




Division




Division

Y, of £52.40 = (Y of

£52) + (1/2 of 0.20)
= £26 + £0.20
= £26.20




Division

Y of £14.84 = (% of

£14) + (1/2 of 0.84)
= £7 + £042
=£7.42

12.325
4|49 '300

12.325t0 2 d.pis 12.33







